

A1. [6b] Vypočítejte limitu

$$\lim_{x \rightarrow +\infty} \left(1 + \sqrt[3]{x^2} - \sqrt[3]{x^2 + 1} \right)^{\frac{1}{1 - \cos \frac{1}{x}}}$$

A2. [5b] Vypočítejte limitu

$$\lim_{x \rightarrow +\infty} \frac{\ln(x^2 + 1) + x + \sin x}{1 - \ln(x^x)}$$

B1. [6b] Vypočítejte limitu

$$\lim_{x \rightarrow 0+} \left(1 + \sin \sqrt{x} \right)^{\frac{1}{1 - \sqrt[3]{1+x}}}$$

B2. [5b] Vypočítejte limitu

$$\lim_{x \rightarrow +\infty} \frac{\ln(e^{(x^2)} + 1) - x}{\ln(e^x - 1) - x^3 + \cos x}$$

$$\textcircled{A1} \lim_{x \rightarrow +\infty} \left(1 + \sqrt[3]{x^2} - \sqrt[3]{x^2+1} \right)^{\frac{1}{1-\cos \frac{1}{x}}}$$

$$f(x) = \exp h(x); \quad h(x) = \frac{1}{1-\cos \frac{1}{x}} \cdot \ln \left(1 + \sqrt[3]{x^2} - \sqrt[3]{x^2+1} \right)$$

$$\text{more obvious: } \sqrt[3]{a} - \sqrt[3]{b} = \frac{a-b}{\sqrt[3]{a^2} + \sqrt[3]{ab} + \sqrt[3]{b^2}}$$

$$\Rightarrow \sqrt[3]{x^2} - \sqrt[3]{x^2+1} = \frac{-1}{\sqrt[3]{x^4} + \sqrt[3]{x^2(x^2+1)} + \sqrt[3]{(x^2+1)^2}} \rightarrow 0$$

nelože jine čísel $\rightarrow +\infty$:

$$\text{nezřet. l. člen: } \left. \begin{array}{l} x^4 \rightarrow +\infty; x \rightarrow +\infty \\ \sqrt[3]{y} \rightarrow +\infty, y \rightarrow +\infty \end{array} \right\} \text{VolSF}(x).$$

$$h(x) = \frac{\frac{1}{x^2}}{1-\cos \frac{1}{x}} \cdot \frac{\ln \left(1 + \sqrt[3]{x^2} - \sqrt[3]{x^2+1} \right)}{\sqrt[3]{x^2} - \sqrt[3]{x^2+1}} \cdot \frac{-x^2}{\sqrt[3]{x^4} + \sqrt[3]{x^2(x^2+1)} + \sqrt[3]{(x^2+1)^2}}$$

$$= P_1(x) \cdot P_2(x) \cdot P_3(x)$$

$$P_1(x) \rightarrow \frac{1}{2}; \text{ nelože } \frac{1-\cos y}{y^2} \rightarrow \frac{1}{2}; y \rightarrow 0$$

$$\left. \begin{array}{l} \frac{1}{x} \rightarrow 0; x \rightarrow +\infty \\ \neq 0 \text{ me } P(+\infty) \end{array} \right\} \text{VolSF}(x)$$

[2]

$$P_2(x) \rightarrow 1, \text{ velost } \frac{\ln(1+y)}{y} \rightarrow 1, y \rightarrow 0$$

"VoLSF(b)"

$$\sqrt[3]{x^2} - \sqrt[3]{x^2+1} \rightarrow 0; x \rightarrow +\infty$$

$$\neq 0 \text{ me } P(+\infty)$$

$$P_3(x) = \frac{-x^2}{\sqrt[3]{x^4}} \cdot \frac{1}{1 + \sqrt[3]{1 + \frac{1}{x^2}} + \sqrt[3]{(1 + \frac{1}{x^2})^2}} \rightarrow -\infty \cdot \frac{1}{3} = -\infty.$$

$$x^{2/3}$$

$$-x$$

$$\downarrow$$

$$-\infty$$

$$\rightarrow \frac{1}{3}; \text{ VoAL;}$$

$$1 + \frac{1}{x^2} \rightarrow 1; x \rightarrow +\infty$$

$$\sqrt[3]{y} \text{ major } y_0 = 1$$

$$\text{VoLSF(a).}$$

cellam $h(x) = P_1(x) \cdot P_2(x) \cdot P_3(x) \rightarrow 2 \cdot 1 \cdot (-\infty) = -\infty$

say

$$f(x) \rightarrow 0; x \rightarrow +\infty$$

$$\textcircled{A2} \quad \lim_{x \rightarrow +\infty} \frac{\ln(x^2+1) + x + \sin x}{1 - \ln(x^x)}$$

$$\ln(x^2+1) = \ln x^2 \left(1 + \frac{1}{x^2}\right) = 2 \ln x + \ln \left(1 + \frac{1}{x^2}\right)$$

$$\ln(x^x) = x \cdot \ln x$$

vytkneme „vedoucí“ člen = $\begin{matrix} \text{mehoré} & x \\ \text{dole} & x \cdot \ln x \end{matrix}$

$$f(x) = \frac{1 + 2 \frac{\ln x}{x} + \frac{1}{x} \ln \left(1 + \frac{1}{x^2}\right) + \frac{\sin x}{x}}{-1 + \frac{1}{x \cdot \ln x}} - \frac{x}{x \cdot \ln x}$$

$$\rightarrow \frac{1 + 0 + 0 \cdot 0 + 0}{-1 + \frac{1}{+\infty}} - \frac{1}{+\infty} = 0.$$

podrobně: $\frac{\ln x}{x} \rightarrow 0$ (rozkladem limity)

$$\frac{1}{x} \cdot \ln \left(1 + \frac{1}{x^2}\right) \rightarrow 0 \cdot 0; \quad \text{VoAL};$$

mohlo by $y \sim y_0 = 1$

$$\sin x \cdot \frac{1}{x} \rightarrow 0 : |\sin x| \leq 1$$

$$\frac{1}{x} \rightarrow 0$$

$$\frac{1}{x \cdot \ln x} \rightarrow \frac{1}{\infty \cdot \infty} = 0.$$

$$\textcircled{B1} \lim_{x \rightarrow 0^+} (1 + \sin \sqrt{x})^{\frac{1}{1 - \sqrt[3]{4x}}}$$

$$f(x) = \exp h(x); \quad h(x) = \frac{1}{1 - \sqrt[3]{4x}} \cdot \ln(1 + \sin \sqrt{x})$$

use odiousing. $\frac{1}{\sqrt[3]{a} - \sqrt[3]{b}} = \frac{\sqrt[3]{a^2} + \sqrt[3]{ab} + \sqrt[3]{b^2}}{a - b}$

$$\frac{1}{1 - \sqrt[3]{4x}} = \frac{1 + \sqrt[3]{4x} + \sqrt[3]{(4x)^2}}{-x}$$

$$\begin{aligned} h(x) &= \frac{\ln(1 + \sin \sqrt{x})}{\sin \sqrt{x}} \cdot \frac{\sin \sqrt{x}}{\sqrt{x}} \cdot \frac{1 + \sqrt[3]{4x} + \sqrt[3]{(4x)^2}}{-\sqrt{x}} \\ &= R_1(x) \cdot R_2(x) \cdot R_3(x) \end{aligned}$$

$$\left. \begin{aligned} \frac{\sin y}{y} &\rightarrow 1; \quad y \rightarrow 0 \\ \sqrt{x} &\rightarrow 0; \quad x \rightarrow 0^+ \\ &> 0 \quad \forall x \in \mathbb{R}_+(0, \delta) \end{aligned} \right\} \text{V.L.S.F.}(g) \Rightarrow R_2(x) \rightarrow 1$$

$$\left. \begin{aligned} \frac{\ln(1+y)}{y} &\rightarrow 1; \quad y \rightarrow 0 \\ \sin \sqrt{x} &\rightarrow 0; \quad x \rightarrow 0^+ \\ &\neq 0 \quad \forall x \in \mathbb{R}_+(0, \delta) \end{aligned} \right\} \text{V.L.S.F.}(g) \Rightarrow R_1(x) \rightarrow 1$$

$$R_3(x) = (1 + \sqrt[3]{4x} + \sqrt[3]{(4x)^2}) \cdot \frac{-1}{\sqrt{x}}$$

$$1. \text{ case } \rightarrow 3; \text{ VoAL; } 1+x \rightarrow 1; x \rightarrow 0+ \left. \vphantom{\begin{matrix} 1+x \rightarrow 1 \\ x \rightarrow 0+ \end{matrix}} \right\} \text{ VoLSF(a)}$$

$$\sqrt[3]{x} \text{ mo } y_0 = 1$$

$$2. \text{ case: } \sqrt{x} \rightarrow 0; x \rightarrow 0+ \left. \vphantom{\begin{matrix} \sqrt{x} \rightarrow 0 \\ x \rightarrow 0+ \end{matrix}} \right\} \Rightarrow \frac{1}{\sqrt{x}} \rightarrow -\infty$$

$$\text{cellen: } h(x) = R_1(x) \cdot R_2(x) \cdot R_3(x) \rightarrow 1 \cdot 1 \cdot (-\infty) = -\infty$$

$$\text{Satz } \boxed{f(x) \rightarrow 0, x \rightarrow 0+}$$

$$(B2) \quad \lim_{x \rightarrow +\infty} \frac{\ln(e^{x^2} + 1) - x}{\ln(e^x - 1) - x^3 + \cos x}$$

$$\ln(e^{x^2} + 1) = \ln e^{x^2} (1 + e^{-x^2}) = x^2 + \ln(1 + e^{-x^2});$$

$$\ln(e^x - 1) = x + \ln(1 - e^{-x});$$

vyškneme vedoucí člen = čísel x^2
jmenovatel x^3

$$f(x) = \frac{x^2}{x^3} \cdot \frac{1 + \frac{1}{x^2} \ln(1 + e^{-x^2}) - \frac{1}{x}}{-1 + \frac{1}{x^2} + \frac{1}{x^3} \ln(1 - e^{-x}) + \frac{\cos x}{x^3}} \rightarrow 0 \cdot \frac{1}{-1} = 0$$

podrobně: $\frac{x^2}{x^3} = \frac{1}{x} \rightarrow \frac{1}{+\infty} = 0$ $U_0 AL$

$$\frac{1}{x^2} \cdot \ln(1 + e^{-x^2}) \rightarrow 0 \cdot \ln 1 = 0$$

$U_0 AL$; $e^{-x^2} \rightarrow 0$; $\ln(1 - e^{-x^2}) \rightarrow -\infty$

možnost $\ln y \sim y = 1$

podrobně $\frac{1}{x^3} \cdot \ln(1 - e^{-x^2})$

zweck: $\left. \begin{array}{l} \cos x \text{ omezené} \\ \frac{1}{x^3} \rightarrow 0 \end{array} \right\} \Rightarrow \frac{\cos x}{x^3} \rightarrow 0$